Ratio to CMS

1000/c do)/dm [1/GeV]

7000 GeV pp Z+Jet

104 ;l_ T I T I T I I T | I I I I | I I T I T Q_
= Pruned Jet Mass (anti-k_(0.7), 220<p_<300, |y|<2.5) =

103 E T T =
10* =
10 = =
1 =
107! & =
102 &~ =
10° k- =
10 = =
= m CMS -
10 g --=-- Pythia 6.425 359 —=
o F Pythia 6.425 a =
10" 7 .-+ Pythia 6.425 dw s =
1077 [ —e— Pythia6.425p0 |
= - 3 Pythia 6.425 pro-q20 =
107 g E
0 B e e e
2 E =

1 — —
0.5 _|
l L L N

Rivet 3.1.0, = 6.9M events

mcplots.cern.ch [arXiv:1306.3436]

N

=

0.5



	Contents
	Page 1


